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~ (3] liwport random
def draw_lottery(n):
return random.randint (1, n) == 1

def calculate_probability(n, nua_trials=10000):
nus_successes = [
for _ in range(num_trials):
for _ in range(n):
it draw_lottery(n):
num_successes += |
break
relurn num_successes / num_trials

def main():
ns = [2, 3, 5., 10, 100, 1000, 10000]
for n in ns:
probability = calculate_probability(n)
print(f"n={n}: [probability}”)

if _neame__ == "_main_":
nain()

n=2: 0.7503

n=3: 0.7043

n=5: 0.6739

n=10: 0.6537
n=100: 0.6325
n=1000: 0.6385
n=10000: 0.6336
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[1] porl numpy as np

class LuckyProbabilityCalculator:
(celf, seed, samples):
ng . random . seed (seed
self.sanples = samples

lities(self, trials):

for n in trials:

lucky = n //f 2
unlucky = sum(l for _ in rangeiself.samples
f lucky not in np.random.randint (0, n, nl)
prob = | - unlucky / self.samples
print (f"n=[n:5}, {[prob:.6f]"

def main():
SEED, SAMP, TRIALS = 2024, 10000, [2, 3, 5,
prob_calculator = LuckyProbabilityCalculator (seed=SEED,
prob_calculator.calculate probabilities(trials=TRIALS)

f _name__ == " main__
main(]

n= 2, 0.753600
n= 3, 0.700000

10, 100, 1000, 10000]
sanp les=

SANP)
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A Bl Bt
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0.75 0.750 0.754
0.704 0.704 0.700
0.672 0.674 0.679
10 0.651 0.654 0.658
100 0.634 0.633 0.631
1,000 0.632 0.637 0.630
10,000 0.632 0.634 0.637
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